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ENGLISH VERSION

Instructions : (1) Answer all the questions on the basis of internal

options.

(2) Q. No. 1 M.C.Q. should be given answer in the

main answer book.

(3) Right side figures show the mark of the questions.

1 Choose the correct option on the basis of internal option. 20
(1) Since when has the package plan been started ?
A) 1950-51 B) 1960-61
(C) 1970-71 D) 1980-81
(2) Which revolution did get birth in 1966-67 in India ?
(A) White revolution
(B) Green revolution
(C) Blue revolution
(D) Rainbow revolution
(3) Who has achieved the most benefit from the green revolution?
(A) Small Farmers
(B) Medium Farmers
(C) Extreme Poor Farmers

(D) Big Farmers
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What is said agricultural production hector-wise ?
(A) Agricultural Growth

(B) Agricultural Productivity

(C) Agricultural Production

(D) Agricultural development growth

The revolution in milk and mik product means :
(A) Green revolution (B) White revolution
(C) Blue revolution (D) Rainbow revolution
The process for exchange is taken the part of

(A) Privatization (B) Liberalization
(C) Globalization (D) Nationalization

Which activities were encouraged to to relax the restrictions

on the foreign goods ?
(A) Export activity (B) Import activity
(C) Re-export activity (D) Import substitution

Which countries are taking objections in the free labour

movement with reference to globalization ?
(A) Developing countries
(B) Developed countries

(C) Less developed countries

(D) Semi-developed countries
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(9) The reserve criteria for the Foreign rate of exchnge in India

in June 2008 ?

(A) Rs. 8,39,913 crores (B) Rs. 12,98,552 crores

(C) Rs. 9,36,597 crores (D) Rs. 11,96,023 crores

(10) What was the criteria for the export in India in 2007-08 ?

(A) Rs. 5,17,642 crores

(B) Rs. 6,25,830 crores

(C) Rs. 6,71,624 crores

(D) Rs. 6,40,172 crores

(11) The system in which the economic decisions are taken by the

market 1s known as

(A) Liberalization (B) Industrialization

(C) Privatization (D) Globalization

(12) In medium scale industries, which factor is specially responsible

for productivity ?

(A) The skill of entrepreneur

(B) The process of raw materials

(C) Availability of electrical power supply.

(D) Availability of man power.
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(13) Which industries have additional importance for Indian

economy ?

(A) Service sector industries
(B) Small cottage industries
(C) Big industries

(D) Consumer goods industries

(14) Which industries are helping in solving the problem of

unemployment ?

(A) Large industries

(B) Medium size industries

(C) Small and cottage industries
(D) Dependent industries

(15) What type of industria enterprises would you call them when

the investment is more than 5 crores and less than 10 crores?
(A) Medium sized (B) Small sized
(C) Large sized (D) Normal sized

(16) Which industries are very important in our Indian economy's

basic problems solution ?

(A) Big scale industries

(B) Small scale industries

(C) Small and medium scale industries
(D) Medium scale industries.
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(17) Which is the weak side of 12th plan ?
(A) Over-ambitious plan
(B) Difficult to achieve 9 to 9.5% growth rate
(C) Difficult to achieve the target of financial sources
(D) Above all these

(18) In the 12th plan, how much percentage of growth rate is to

be targettd in the agricultural sector ?
(A 4% to 4.5% B) 4% to 4.2%
©) 35% D) 5%

(19) How much extent of financial deficit is determined in the 12th

Plan ?
(A) Rs. 3,14,23,249 crores
(B) Rs. 18,33,323 crores
(C) Rs. 22,31,461 crores
(D) Rs. 25,55,043 crores
(20) In the 12th plan, how much investment rate is determined?
A 39% B) 425%

(C) 41.4% O) 37.5%
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2  Describe the main problems of medium scale industries. 10

OR
2 Describe the challenges behind (Weak-sides-Limitations) of 10
12th plan.
3 Give the meaning of green revolutin and discuss its 10
achievements.
OR
3 Describe the problems of small scale industries. 10
4 (a) Write short note : (any two) 8

(1) Importance of small scale industries
(2) The factors determining the green revolution.

(b) Wite short notes : (any one) 8
(1) Privatization

(2) Limitations of green revolution

5 Write short answers : (any two) 14
(1) Brigter-Positive sides of 12th plan

(2) Describe measures to tackle the problems of small scale

industries.
3) Globalization
(4) Evaluate the economic reforms in India

(®5) The significance of medium scale industries.

DO-001-001268 ] 12 [ 1800/42-54 ]



